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The X-WERPOL Array 
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Tx pulse Time Frequency RX1 Phase RX2 Phase 

P1 0 f N Φ1 S Φ2 

P2 t f+df E Φ3 W Φ4 

P3 2t f+df N Φ5 S Φ6 
P4 3t f E Φ7 W Φ8 

 
 
 
Φ1  = Φ0 + Φy/2 + e1                          

Φ2  = Φ0 - Φy/2 + e2 

Φ3  = Φ0 + Φx/2 + Φt + Φp + Φf  + e3 

Φ4  = Φ0 - Φx/2 + Φt + Φp + Φf  + e4 

Φ5  = Φ0 + Φy/2 + 2Φt + Φf  + e5 

Φ6  = Φ0 - Φy/2 + 2Φt + Φf  + e6 

Φ7  = Φ0 + Φx/2 + 3Φt + Φp  + e7 

Φ8  = Φ0 - Φx/2 + 3Φt + Φp  + e8 
 

圖2-1 X-WERPOL的擺設方式和脈衝波集的接收方式 

 

 

 Ambiguity RCLF 
Φo π 0.7071 

Φx 2π 1.0 

Φy 2π 1.0 

Φt π/2 0.3536 

Φp π/2 0.7906 

Φf π 0.7071 
SUM 3.5(π) 4.5583 


